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Work out 35% of £19

6 x 678 + 4 x 678
131-57-___=-5

Share £31 between 4 people.

A lorry driver pulls over for a rest break at 3:37pm. He drives off at
6:05pm. How long was his rest break?

At a dog show % of the dogs are Labradors, and ﬁ are Springer Spaniels.
What fraction are neither?

Jim has £900. He gives % of his money to Ben. How much does Ben get?

Tickets to tramlines music festival cost £32, and 3,561 tickets have
been sold. Mark estimates that the total revenue will be £90,000.
Comment on Mark's estimate, and then work out the exact revenue from
ticket sales.



